

12649

1620

12649

①

$$(3x + xy^2)dx - (y + x^2y)dy = 0$$

$$\cancel{3x dx} + xy^2 dx - (y dy + \cancel{x^2 y dy}) = 0$$

$$\cancel{3x dx} + xy^2 dx - y dy - x^2 y dy = 0$$

$$x(3 + y^2)dx - y(1 + x^2)dy = 0$$

$$\frac{x dx}{(1 + x^2)} - \frac{y}{(3 + y^2)} dy = 0$$

$$\frac{1}{(1 + x^2)} d(1 + x^2) - \frac{1}{(3 + y^2)} d(3 + y^2) = 0$$

$$\frac{1}{2} \int \frac{1}{(1 + x^2)} d(1 + x^2) - \frac{1}{2} \int \frac{1}{(3 + y^2)} d(3 + y^2) = 0$$

$$\frac{1}{2} \ln(1 + x^2) - \frac{1}{2} \ln(3 + y^2) = \ln c$$

$$\ln(1 + x^2)^{\frac{1}{2}} - \ln(3 + y^2)^{\frac{1}{2}} = \ln c$$

$$\ln \frac{(1 + x^2)^{\frac{1}{2}}}{(3 + y^2)^{\frac{1}{2}}} = \ln c$$

$$\ln \left[\frac{(1 + x^2)}{(3 + y^2)} \right]^{\frac{1}{2}} = \ln c$$

take e

$$\left[\frac{(1 + x^2)}{(3 + y^2)} \right]^{\frac{1}{2}} = c$$

$$y(1) = 3$$

$$\left[\frac{(1+y^2)}{(3+y^2)} \right]^{\frac{1}{2}} = C$$

$$\sqrt{\frac{2}{12}} = C$$

$$\sqrt{\frac{1}{6}} = C$$

$$\left[\frac{(1+x^2)}{(3+y^2)} \right]^{\frac{1}{2}} = \sqrt{\frac{1}{6}} \quad \text{--- } \textcircled{6}$$

$$(2) \quad (1 + 2e^{\frac{x}{y}}) dx + 2e^{\frac{x}{y}} (1 - \frac{x}{y}) dy = 0$$

$$\text{Ans } y = vx \rightarrow dy = v dx + x dv$$

$$\frac{1}{(1 + 2e^{\frac{x}{vx}})} dx + 2e^{\frac{x}{vx}}$$

$$\text{Ans } x = vy \rightarrow dx = v dy + y dv$$

$$(1 + 2e^{\frac{vy}{y}}) (v dy + y dv) + 2e^{\frac{vy}{y}} (1 - \frac{vy}{y}) dy = 0$$

$$(1 + 2e^v) (v dy + y dv) + 2e^v (1 - v) dy = 0$$

$$v dy + 2e^v dy + y dv + 2e^v y dv + 2e^v dy - 2e^v v dy = 0$$

$$(v + 2e^v) dy + (1 + 2e^v) y dv = 0$$

$$\frac{1}{y} dy + \frac{(1 + 2e^v)}{(v + 2e^v)} dv = 0$$

$$\frac{1}{(v + 2e^v)} d(v + 2e^v) = \frac{1}{(v + 2e^v)} (dv + 2e^v dv)$$

$$= \frac{1}{(v + 2e^v)} (dv + 2e^v dv)$$

$$\frac{1}{y} dy + \frac{1}{(v + 2e^v)} d(v + 2e^v) = \int 0$$

$$\ln y + \ln(v + 2e^v) = \ln c$$

$$\ln y(v + 2e^v) = \ln c$$

take 2

$$y(v + 2e^v) = c$$

$$\text{or } x = vy$$

$$v = \frac{x}{y}$$

$$y\left(\frac{x}{y} + 2e^{\frac{x}{y}}\right) = c$$

$$x + 2ye^{\frac{x}{y}} = c \quad \text{--- } \textcircled{+}$$

①

$$\frac{xy-1}{x^2y} dx - \frac{1}{xy^2} dy = 0$$

$$M(x,y) dx + N(x,y) dy = 0$$

$$\frac{\partial M}{\partial y} = \frac{\partial}{\partial y} \left(\frac{xy-1}{x^2y} \right) = \frac{x^2y \frac{\partial}{\partial y} (xy-1) - (xy-1) \frac{\partial}{\partial y} x^2y}{(x^2y)^2}$$

$$= \frac{x^2y \cdot x - (xy-1)x^2}{x^4y^2}$$

$$= \frac{\cancel{x^3y} - \cancel{x^3y} + x^2}{x^4y^2} = \frac{x^2}{x^4y^2} = \frac{1}{x^2y^2}$$

$$\frac{\partial N}{\partial x} = \frac{\partial}{\partial x} \left(-\frac{1}{xy^2} \right) = -\frac{\partial}{\partial x} (xy^2)^{-1}$$

$$\frac{\partial N}{\partial x} = -(-1)(xy^2)^{-2} \frac{\partial}{\partial x} (xy^2)$$

$$\frac{\partial N}{\partial x} = (xy^2)^{-2} y^2 = \frac{y^2}{(xy^2)^2} = \frac{y^2}{x^2y^4}$$

$$\frac{\partial N}{\partial x} = \frac{1}{x^2y^2} \quad \text{--- } \cancel{\text{}} \quad \text{--- } \cancel{\text{}}$$

$$u(x,y) = \int M(x,y) dx + P(y)$$

$$\begin{aligned} u(x,y) &= \int \frac{(xy-1)}{x^2y} dx + P(y) \\ &= \int \frac{xy}{x^2y} dx - \int \frac{1}{x^2y} dx + P(y) \end{aligned}$$

$$u(x,y) = \int \frac{1}{x} dx - \int \frac{1}{x^2 y} dx + p(y)$$

$$u(x,y) = \ln x - \frac{1}{y} \int x^{-2} dx + p(y)$$

$$u(x,y) = \ln x - \frac{1}{y} \frac{x^{-2+1}}{-2+1} + p(y)$$

$$u(x,y) = \ln x - \frac{1}{y} \frac{x^{-1}}{-1} + p(y)$$

$$u(x,y) = \ln x + \frac{1}{xy} + p(y) \quad \text{--- (1)}$$

$$\frac{\partial u(x,y)}{\partial y} = \frac{\partial \ln x}{\partial y} + \frac{\partial \frac{1}{xy}}{\partial y} + p'(y)$$

$$= \frac{1}{x} \frac{\partial \frac{1}{y}}{\partial y} + p'(y)$$

$$= \frac{1}{x} \frac{\partial y^{-1}}{\partial y} + p'(y)$$

$$= \frac{1}{x} (-1) y^{-2} + p'(y)$$

$$\frac{\partial u(x,y)}{\partial y} = -\frac{1}{xy^2} + p'(y)$$

$$\frac{\partial u(x,y)}{\partial y} = N(x,y)$$

$$-\frac{1}{xy^2} + p'(y) = -\frac{1}{xy^2}$$

$$p'(y) = 0$$

$$p(y) = \int 0 dy = C \quad \text{--- (2)}$$

11.44 (2) 1.4 (1)

$$U(x, y) = \ln x + \frac{1}{xy} + C = C$$

$$\ln x + \frac{1}{xy} = C - C = 0$$

$$\frac{1}{xy} + \ln x = C \quad \text{————— } \textcircled{D}$$

$$\frac{\partial N}{\partial x} = 4^4 e^{4x} - 4^2 e^{2x} - 3$$

$$= 2x^4 e^{4x} - 2x^2 - 3$$

$$\frac{\frac{\partial N}{\partial y} - \frac{\partial N}{\partial x}}{N(x,y)} = \frac{2x^4 e^{4y} + 8x^4 e^{4y} + 6x^4 + 1 - \cancel{2x^4 e^{4y}} + 2x^4 + 3}{2x^4 e^{4y} - 2x^2 - 3x}$$

$$= \frac{8x^4 e^{4y} + 8x^4 + 4}{2x^4 e^{4y} - 2x^2 - 3x}$$

————— ↓

①

$$(e^{xy^4} + 2xy^3 + y) dx + (x^2y^4e^y - x^2y - 3x) dy = 0$$

$$M(x,y) dx + N(x,y) dy = 0$$

$$\frac{\frac{\partial N}{\partial y} - \frac{\partial M}{\partial x}}{N(x,y)} = f(x) \quad \Downarrow \int e^{f(x)} dx$$

$$\frac{\frac{\partial N}{\partial x} - \frac{\partial M}{\partial y}}{M(x,y)} = g(y) \quad \Downarrow \int g(y) dy$$

$$\frac{\partial M}{\partial y} = \frac{\partial}{\partial y} (2xy^4e^y + 2xy^3 + y)$$

$$= 2x \frac{\partial}{\partial y} (y^4e^y) + 2x \frac{\partial}{\partial y} y^3 + \frac{\partial}{\partial y} y$$

$$= 2x \left(y^4 \frac{\partial}{\partial y} e^y + e^y \frac{\partial}{\partial y} y^4 \right) + 6xy^2 + 1$$

$$= 2x (y^4 e^y + 4e^y y^3) + 6xy^2 + 1$$

$$\frac{\partial M}{\partial y} = 2xy^4e^y + 8xe^y y^3 + 6xy^2 + 1$$

$$\frac{\partial N}{\partial x} = \frac{\partial}{\partial x} (x^2y^4e^y - x^2y - 3x)$$

$$= y^4e^y \frac{\partial}{\partial x} x^2 - y^2 \frac{\partial}{\partial x} x^2 - 3 \frac{\partial}{\partial x} x$$

8

10.10.15

9

$$y f(x, y) dx + x g(x, y) dy = 0$$

answ

$$y(2xy^3e^y + 2xy^2 + 1) dx + x(xy^4e^y - xy^2 - 3) dy = 0$$

$$f(x, y) = 2xy^3e^y + 2xy^2 + 1$$

$$g(x, y) = xy^4e^y - xy^2 - 3$$

$$I.F. = \frac{1}{xy(f(x, y) - g(x, y))} = \frac{1}{xy(2xy^3e^y + 2xy^2 + 1 - xy^4e^y + xy^2 + 3)}$$

$$= \frac{1}{2x^2y^4e^y + 2x^2y^3 + xy - x^2y^5e^y + x^2y^3 + 3xy}$$

$$= \frac{1}{2x^2y^4e^y + 3x^2y^3 + 4xy - x^2y^5e^y}$$

A answer

$$I.F. = \frac{1}{y^4}$$

<http://AV101.hot.to>

av101.driblog.com

10 9 5 6 12.10.15

12) ①) $\int \frac{dy}{dx} = \dots$

$$\frac{dy}{dx} = -\frac{4}{x^2} - \frac{1}{x}y + y^2 \longrightarrow y_1 = \frac{2}{x} \text{ --- konst.}$$

$$z = \frac{1}{y - y_1} = \frac{1}{y - \frac{2}{x}}$$

$$z \left(y - \frac{2}{x} \right) = 1$$

$$y - \frac{2}{x} = \frac{1}{z}$$

$$y = \frac{1}{z} + \frac{2}{x} \text{ --- (1)}$$

$$\frac{dy}{dx} = \frac{d z^{-1}}{dx} + \frac{d}{dx} 2x^{-1}$$

$$\frac{dy}{dx} = (-1) z^{-2} \frac{dz}{dx} + 2(-1) x^{-2} \frac{dx}{dx}$$

$$\frac{dy}{dx} = -\frac{1}{z^2} \frac{dz}{dx} - \frac{2}{x^2} \text{ --- (2)}$$

①) 11a) ②) unv konst

$$-\frac{1}{z^2} \frac{dz}{dx} - \frac{2}{x^2} = -\frac{4}{x^2} - \frac{1}{x} \left(\frac{1}{z} + \frac{2}{x} \right) + \left(\frac{1}{z} + \frac{2}{x} \right)^2$$

$$-\frac{1}{z^2} \frac{dz}{dx} - \frac{2}{x^2} = \cancel{-\frac{4}{x^2}} - \frac{1}{xz} - \frac{2}{x^2} + \frac{1}{z^2} + \frac{4}{zx} + \cancel{\frac{4}{x^2}}$$

$$-\frac{1}{z^2} \frac{dz}{dx} = \cancel{+\frac{2}{x^2}} - \frac{1}{xz} - \cancel{\frac{2}{x^2}} + \frac{1}{z^2} + \frac{4}{xz}$$

$$-\frac{1}{z^2} \frac{dz}{dx} = -\frac{1}{xz} + \frac{1}{z^2} + \frac{4}{xz}$$

-2) $\int \frac{dz}{z^2} = \dots$

$$\frac{dz}{dx} = +\frac{1}{x} z - 1 - \frac{4}{x} z$$

$$\frac{dz}{dx} = \left(\frac{1}{x} - \frac{4}{x} \right) z - 1$$

$$\frac{dz}{dx} = -\frac{3}{x} z - 1$$

$$\frac{dz}{dx} + \frac{3}{x} z = -1$$

$$p(x) = \frac{3}{x}$$

$$q(x) = -1$$

$$z = e^{-\int p(x) dx} \left[\int e^{\int p(x) dx} q(x) dx + C \right]$$

$$z = e^{-\int \frac{3}{x} dx} \left[\int e^{\int \frac{3}{x} dx} (-1) dx + C \right]$$

$$z = e^{-3 \ln x} \left[\int e^{3 \ln x} (-1) dx + C \right]$$

$$z = e^{-\ln x^3} \left[\int e^{\ln x^3} (-1) dx + C \right]$$

$$z = \frac{1}{x^3} \left[-x^3 dx + C \right]$$

$$z = \frac{1}{x^3} \left[-\int x^3 dx + C \right]$$

$$z = \frac{1}{x^3} \left[-\frac{x^4}{4} + C \right] = -\frac{x^4}{x^3 \cdot 4} + \frac{C}{x^3}$$

$$z = -\frac{x}{4} + \frac{C}{x^3}$$

$$1144 \text{ a) } z = \frac{1}{4 - \frac{2}{x}}$$

$$\frac{1}{4 - \frac{2}{x}} = -\frac{x}{4} + \frac{c}{x^3} = -\left(\frac{x}{4}\right) + cx^{-3}$$

$$1 = \left[4 - \frac{2}{x}\right] \left[-\frac{x}{4} + \frac{c}{x^3}\right]$$

$$y = \frac{1}{\left[\frac{c}{x^3} - \frac{x}{4}\right]} + \frac{2}{x} \quad \text{—————} \quad \text{ⓧ}$$

8

$$\frac{dy}{dx} = \frac{x - 2y + 5}{2x - y + 4}$$

Lösungsweg $\frac{dy}{dx} = \frac{a_1x + b_1y + c_1}{a_2x + b_2y + c_2}$

$$a_1b_2 - a_2b_1 = (1)(-1) - (2)(-2) = -1 + 4 = 3 \neq 0$$

Nullstellenverschiebung

$$x = u + h$$

$$y = v + k$$

12.0 h und k bestimmen

$$1h - 2k + 5 = 0 \quad \text{--- ①}$$

$$2h - k + 4 = 0 \quad \text{--- ②}$$

aus ① $-2k = -5 - h$

$$k = \frac{-5 - h}{-2} = -\frac{(5 + h)}{-2} = \frac{5 + h}{2} \quad \text{--- ③}$$

in ② für ③

$$2h - \left(\frac{5 + h}{2}\right) + 4 = 0$$

$$2h - \frac{5}{2} - \frac{h}{2} + 4 = 0$$

$$2h - \frac{h}{2} = -4 + \frac{5}{2}$$

$$\frac{4h - h}{2} = \frac{-8 + 5}{2}$$

$$\frac{3}{2}h = -\frac{3}{2}$$

$$h = -\frac{3}{2} \times \frac{2}{3} = -1 \quad \text{--- ④}$$

in ③ für ④

$$k = \frac{5 + (-1)}{2} = \frac{4}{2} = 2 \quad \text{--- ⑤}$$

$$h = -1$$

$$k = 2$$

15

$$x = u - 1 \quad dx = du$$

$$y = v + z \quad dy = dv$$

$$\frac{dv}{du} = \frac{(u-1) - z(v+z) + 5}{2(u-1) - (v+z) + 4}$$

$$\frac{dv}{du} = \frac{u-1 - zv - z^2 + 5}{2u-2 - v - z + 4} = \frac{u - zv}{2u - v}$$

माना $z = \frac{v}{u}$ ~~माना~~ $v = zu$ — (1)

माना

$$\frac{dv}{du} = \frac{u - zv}{2u - v} \quad \text{--- (2)}$$

$$\frac{dv}{du} = z \frac{du}{du} + u \frac{dz}{du}$$

$$\frac{dv}{du} = z + u \frac{dz}{du}$$

$$\frac{dv}{du} = z + u \frac{dz}{du} \quad \text{--- (3)}$$

माना (3) (1) माना (2)

$$z + u \frac{dz}{du} = \frac{u - zu}{2u - zu} = \frac{u(1 - z)}{u(2 - z)}$$

$$z + u \frac{dz}{du} = \frac{(1 - z)}{(2 - z)}$$

$$u \frac{dz}{du} = \frac{(1 - z)}{(2 - z)} - z = \frac{1 - z - (2 - z)z}{(2 - z)}$$

$$\frac{u dz}{du} = \frac{1 - z - 2z + z^2}{2 - z} = \frac{z^2 - 4z + 1}{2 - z}$$

$$\frac{(2-z) dz}{z^2 - 4z + 1} = \frac{1}{u} du$$

~~$$\frac{(2-z)}{z^2 - 4z + 1} = \frac{(2-z)}{z}$$~~

$$d(z^2 - 4z + 1) = 2z dz - 4 dz$$

$$= (2z - 4) dz$$

$$-\frac{1}{2} \int \frac{1}{z^2 - 4z + 1} d(z^2 - 4z + 1) = \int \frac{1}{u} du$$

$$-\frac{1}{2} \ln |z^2 - 4z + 1| = \ln u + \ln c$$

$$\ln |z^2 - 4z + 1|^{-\frac{1}{2}} = \ln uc$$

$$|z^2 - 4z + 1|^{-\frac{1}{2}} = uc$$

~~$$\frac{1}{(z^2 - 4z + 1)^{\frac{1}{2}}} = uc$$~~

$$z = \frac{y}{x+1} = \frac{y-2}{x+1}$$

$$\frac{1}{\left[\left(\frac{y-2}{x+1} \right)^2 - 4 \frac{(y-2)}{(x+1)} + 1 \right]^{\frac{1}{2}}} = (x+1)c$$

$$\frac{1}{\left[\frac{(y-2)^2}{(x+1)^2} - 4 \frac{(y-2)}{(x+1)} + 1 \right]} = (x+1)^2 c$$